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and
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Answer all 3 (ths Figuresin full

corresponding CO and PO are written within parentheses.

2) What does the term “Garbage value” mean in the context of C programming? Explainwith 5
an example. (con
(eon)
b) You and your co-workers like to send
witha i

‘manner. E:

d ends
Ifthe numberstays (C02)
the same even ifit i reversed (eg: 12321, 4554, 22, 3), then the document is authentic.

(o1
‘Write a C program that will take the number as input from the user and print whether the
document is authentic or not.

©) Given a sorted list, the median represents the middle element in an odd numbered list If 10

the list is even numbered, then the median is the average of the middle two numbers. (co3)
Write a program that at first takes the size of the lst as input from the user. Then, it takes  (FO1)
each element of the list as input. Assume that the input will be in sorted order. Finally, it

prints out the median of the list.

assigned an

shown in Code Snippet 1byshow- 6
ing all the necessary steps:

(cop)
1 ‘; a=4,b=3 c=-2 d=5 anser; (ron
2 answer = (d-- >= —b-+b) + b+ + ¢ ¥ =a /[ ++c;

Code Snippet 1: A protion of a C program Question 2:2)

b) The hown in Code 12 cats tickets based on their price. Butit 8
has eight errors. Rewrite the code by correcting all the mistakes. (cos

1 [#include stdio o
2 int main()
3
4
s | san); |
6
7| switchcase (sprice) ‘
M
o case 450: printf("remiun®);

10| case 300

2 )

e

A |

i for Question 2b).
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) The factorial of a non-negative integer number is the product of all positive integers less 6+ 5
than or equal to that number. Implement a program that takes a non-negative integer as  (C02)
inputand and calculate the factorial of that integer. Also provide a flowchart diagram of your (701

algorit
3. a) You i i 7+10
to find the sum of the given geometric series (o2

1,11
T3ttty
i Your friend wants to use the following. eq\mnnn i calculate thesum ofthe sris

o)

sum =~

Here, a i the first term in the series and r is the ratio between two terms.
‘Write a C program to calculate the sum of a series using the given formula by taking the
first term and the ratio as input from the user.
ii. You want to check the correctness of the solution generated by your friend. Implement
C program to calculate the sum of the given series up to the first 1000 terms.
b) i What are “Escape sequences” in C programming language? Clarify using some exam- 4 +4
ples. (con
ii. Describe how multidimensional arrays are stored in computer memory. (po1)
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